Reminders...

Online Quiz 3 closes this Saturday. Other Online Quizzes
are available.

Test 2 is coming soon{ Review Erob]ems Jand video

solutions are posted, and there is a Practice Test 2 on
CourseWare. -

EMCFs are due on each MWF.
Homework is posted and due on Monday.

There is a written Quiz in lab on Friday.

Please tell your high school friends and former

teachers about our Mathematics Contest
(middle school and high school students are welcome)

February 9th
Universi
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http://mathcontest.uh.edu

Today

Final comments for integrating products
of sine and cosine.

Integrating Powers and Products of
Secant and Tangent Functions

Popper Number 05

1. -3.14
1.2

2. — |sin (x)de= 1/2
= ;!-sm (x)




Examples of simple products with different
arguments:
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Useful Identities:
cos(A+ B)=cos(A)cos(B)-sin(A)sin(B)
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Even Powers of secant and tangent:
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Examples: j‘s;ec4 (x) dx =

J-‘[an4 (.r) dx =

Fundamental Identity:

1+ tan® (x) =sec’ (x)
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Examples:
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General strategy for calculating
I tan" (x) sec” (x)dx
when m _1s even.
m_1s eve

( peel off sec?(x), and then turn everything else into powers of tan(x) )
I
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3. [ tan’(x)dx=(1-In(2))/2

=0.1534264097

Odd Powers —s Patz

—=
Example: Isec3(x)dx= fffﬂ sec“lxfdx
—

n Av

Uz seclr) dussedd o ) A

Auzsedfdx ¥ E Fanl)
= gc(x\\'ﬁw/ﬁ~J§L(/x\+anlf’y),7(}<

= cochd Seaks) — gsec/%) (“ Ul N ax

fwcz(ﬂdﬁiw«/n*w@ —/fwgmw +£gzc(x\o4y
P e .
= SE(/X)“P#“/XJ e ‘4(\@4[)«)++ﬁnfq> + C/

2\ cec” meddy

Y
2 nl%) + (Jszc/x) f-&o«n(xj‘ +
> ggeLB(\f\d\% —,-\/;cw/;d*- + Ll 3 Q




Odd Powers

Example: I tan sec ( )dxz

S%ec () = se9 ()| o

AA tgwa(S D‘{- S-‘(A()

?@(YS d\/'; e ¢ (5‘\?«)
—
Feb 6-6:59 AM

General strategy for calculating
j tan” (x)sec” (x)dx
when n isodd and m is odd.

( peel off a sec(x)tan(x), and then turn everything else into powers of sec(x) )
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General strategy for calculating
J‘tanr1 (x) sec” (x) dx
when n 1seven and m 1s odd.

( the hardest case - this typically involves parts )
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